NAME:- SUB:- STD:-

Topic:-

1. Look at the place value of each of the digits in numbers
27, 65,043.

Ten Lakhs Ten
Lakhs Thousands
20,00,000 | 7,00,000 | 60,000 5,000 0 40 3

Thousands | Hundreds

When we write the place values of the digits as an addition,
we get the expanded form of the number. So, the expanded
form of the number 27, 65,043 Is 20,00,000 + 7,00,000 +
60,000 + 5,000 + 0 + 40 +3.

2. Write the place value of the number 95, 04,506.

Ten Thousands | Hundreds

Lakhs Thousands




3. Write the expanded form of following. One has been
done for you.
a) 95,04,506
Answer: 90, 00,000 + 5, 00,000 + 0 + 4,000 + 500 + 0 + 6.

b) 56,43,215
Answer:

c) 70,815
Answer:

d) 8,35,999
Answer:

e) 8,88,889
Answer:

f) 92,32,992

Answer:

4. Write the place value of the underlined digit. One has

been done for you.
(1) 78, 95,210

Ans. the underlined digit is 7. It is the digit is in ten lakhs place.
Hence, its place value 1s 70, 00,000 or seventy lakhs.



(2) 14, 95,210
Ans.

(3) 3,52,749
Ans.

(4) 50,000
Ans.

(5) 89, 99,988
Ans.

4. Write the place name and place value of each digit in
the following numbers. One has been done for you.
(1) 35,705

Ans.

Ten
Thousands
30,000 5,000 700 0 5

Thousands | Hundreds




(2) 7, 82, 899
Ans.

3) 82, 74, 508

Ans.

5. The expanded form of the number is given. Write the
number.

(1) 60, 000 + 4000 + 600 + 70+ 9

Ans.



(2) 9, 00, 000 + 20,000 + 7000 + 800 + 5
Ans.

(3) 20, 00,000 + 3, 00,000 + 60,000 + 9000 + 500 + 10 + 7
Ans.

(4) 7, 00,000 + 80,000 + 4000 + 500

Ans.

(5) 80, 00,000 + 50,000 + 1000 + 600 + 9
Ans.



